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The figures in the margin indicate full marks
Jor the questions

1. Answer the following as directed : 1x10=10

TR wore s Seq i :

(a) “An argument in logic always involves
disagreement or controversy.”’ Is it true?

w@mwmmmwwa
AT 17 AR 61 2

(b) An argument consists of one/two/no fixed
number of premise or premises.
( Choose the correct answer )

b1 & BT /7B1/ e TS SRS T2 |
( = Teaeo! AR Sferear )
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(2)

(c) The conclusion of an inductive argument is
probable/certain/both probable and certain.

( Choose the correct answer )

SRR fE e ek Ave ser ue

e To 2RT |
(o= Tt Af Tferean )
(d) ‘Logically true’ and ‘valid’ are synonymous.
Is it true?

S ) A 034’ TN | FARE 51 2

(e) ____ was the founder of syllogism.
( Fill in the blank )
TR e TeRRe iR |
(A= 31 o7 7 )

(f) The union of a set A with an empty set is

equivalent to the set A/the contradictory of
set A/an empty set.

( Choose the correct answer )

aﬁﬁ@mﬁaﬁ%mﬁmﬁm@,AW

TR /A F=fS Reqie/ <ot R sieafs = |
(o Tt A1f Bhten )
24A /232 { Continued )

e e i B S N RS

(3)

(g) Middle term is the subject of both premises in
the First/Second/Third figure.
( Choose the correct answer )
oo /GO /POR  AEES  RYOMCOl Gl
SIRERITS Sraehy 7w el 92 | .
(W% Teeo! A1 Sferet )

(h) Obversion is a kind of mediate inference. Is it
correct?

2AfSTG G S GO1 2 | FAR H0ICA ?

(i) Who is the author of the book, Prior Analytics?
Prior Analytics 28379 F1IF 19 ?

(i) Boole/Russell/John Venn is associated with
the modern square of opposition.

( Choose the correct answer )

e I ReaiReon Bl we wive
SRR 275 o1 /3102e /S GO |

(o= e 1R Sferedr )

2. Give brief answer for the following questions :
2x5=10
OO TR TR e R
(a) Write two common characteristics of
deductive and inductive inference.
e e SorE SEEEN e 90 56
Lo Ay o |

24A/232 ( Turn Over )




(b)

(c)

(d)

(e)

3. Answer any four of the following questions : 5x4=2()

(4)

Write the definition of set given by George
Cantor, the founder of set theory.

RS OGI TERT T (T SIOREET A2
FGICH! for4 |

Define conversion.

ARG 75 o4 |

Write any two valid moods of Second Figure
of Nyaya.

T 8w KEEE R Pl 1 Gy g
ferr

Draw a Venn diagram for I Proposition.
I 67 (1 oy =isee1 3547 |

O] TR R I DI ey By

(a)

(b)

24A /232

What is validity of an argument? Write a
short note on it.

e el [7 WH eme @B vy G
feran

What is categorical Proposition? Write the
types of categorical proposition,

ﬁ«wwﬁs?ﬁ«wwmﬁs%
forar | :

{ Continued )

(c)

(d)

(e)

(1

24A/232

(S)

Distinguish between argument and argument

form

@%WWMM@W1

Write a short note on the rule of existential
import.

Existential import FREE R 961 55 Gl
o |

Write the special rules of the Fourth Figure of
Nyaya.

e v KRN [{eT PR forsi o

Simplify the following sentences into logical

form : 1x5=5

©oq IR SHRBTAS T6+10e] TP P
(i) Every citizen is a voter.
oifoe 9T, (S0 |
(i) Any man cannot be poet.
& @I TR IR T TR |
(iij) Almost all students are obedient.
o7 el QR G |
(iv) Writers are often hard workers.
(TR 2R SR 1
(v) Virtuous alone are happy.
@3 AT TR |

{ Turn Over )



(6)

4. Answer any four questions of the following :
: ' 10x4=40
e eRPTRE R CIeT BRI e fors

(a) What is deductive argument? How is it
different from inductive argument? 2+8=10

e ST 67 R @S S SRR S
4T 2

(b) Are arguments claims? Explain the structure
of an argument with a suitable example. 2+8=10

IeT vl I[ I3 ARA? TR THRICE
& 157 TR 41 |

(c) Explain the traditional square of opposition
with the help of a diagram. 10

TG B E A b 1 0 T 1 M 110 = M B ey
T 411

(d) What is immediate inference? What are the
various kinds of immediate inference? Can
immediate inference be considered as an
inference? Give argument. 2+2+6=10

SIS SFIA 197 SN S AT R
R 2 S SR SERAE 3 979 iRke 2 3R
ST |

24A/232 ( Continued )

(7)

{e) Prove the validity of the following arguments
using the Venn diagrammatic technique :
5%2=10

e foq smfe s IR FafERe foms
cage! g 41 -

(i All humans are mammals.
No humans are cats.

No cats are mammals.

! AR 2 TAE & |

CRICT TR 7= A |
I (AN TR T0R Gl |

(ii) All cows are grass eaters.
Some wild animals are grass eaters.

Some wild animals are cows.

SR OF T PIICSIE |
foRum F0eN =W TS |
s Regm 3= medt = s

(f) Explain the intersection of sets with the

proper diagrammatic presentation. W10
T g T R (R QIRECE
EIEIESEIN :
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(8)

(g) What is empty set? Explain the importance of

empty set in set theory. 2+8=10
e e 57 2 oge e wafer wror
BUAUESEIN

(h) How does Aristotle define syliogism? Write
the rules of syllogism and the fallacies that
arise in violation of those rules. 2+8=10

afREBeE T SN KA [ Sqiormingg 9

T R e e o fRemg sk
e Tew a1 (TR ToE 9 |
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